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Quiz Date: 24th March 2020 

Directions (1-5): Study the following information carefully and answers the questions 
given below: 
Eight Indian army soldiers viz. L, M, N, O, P, Q, R and S are sitting in a straight line facing 
north. They are meeting at the training camp. They are from different regiments viz. 
Kumaon, Assam, Bihar, Jat, Gorkha, Dogra, Rajput and Punjab but not necessarily in the 
same order. 
Q sits third to the right of the person who is from Gorkha regiment. The person who is from 
Punjab regiment sits second to the right of Q. L and M are immediate neighbors of each 
other. Neither L nor M is an immediate neighbor of Q. R sits third to the right of the person 
who is from Kumaon regiment. Neither L nor M is from Kumaon regiment and Jat regiment. 
The one who is from Rajput regiment sits third to the right of M. The person who is from 
Assam regiment sits to the immediate left of S. Only one person sits between M and O. N 
sits second to the left of the one who is from Rajput regiment. Q does not belong to Rajput 
regiment. L sits at one of the extreme ends. M does not belong to Bihar regiment. 
 
Q1. R belongs to which of the following regiment? 
(a) Jat  
(b) Dogra  
(c) Rajput  
(d) Assam  
(e) Bihar 
 
Q2. Who amongst the following sits exactly between M and O? 
(a) The person who is from Gorkha regiment. 
(b) The person who is from Kumaon regiment. 
(c) S 
(d) L  
(e) The person who is from Punjab regiment. 
 
Q3. 'R' is related to 'Rajput regiment' in a certain way based on the above arrangement. 'O' 
is related to 'Dogra regiment' following the same pattern. Who is related to 'Gorkha 
regiment' following the same pattern. 
(a) P               
(b)Q        
(c) L        
(d) S  
(e) N 
 
Q4. Which of the following is true regarding S? 
(a) Only two people sit to the left of S  
(b) S is sitting third to the right of the person who is from Rajput regiment  
(c) M and O are immediate neighbors of S  
(d) S is from Gorkha regiment. 
(e) None of these 
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Q5. Who amongst the following is from Dogra regiment? 
(a) P                         
(b) M             
(c) Q             
(d) S                       
(e) N 

 
 

Directions (6-9): Study the information carefully and answer the questions given 
below. 
Five family members are sitting around a circular table. B is brother-in-law of E. C is the 
only daughter of D. A’s uncle sits 2nd to the left of A. D’s husband sits 2nd right to D. No two 
females are sitting together. B is not married to D. There are only two generations in this 
family. 
 
Q6. How is D related to B? 
(a) sister 
(b) brother 
(c) sister-in-law  
(d) brother-in-law 
(e) none of these 
 
Q7. How is A related to E?  
(a) uncle 
(b) aunt 
(c) niece 
(d) nephew 
(e) none of these 
 
Q8. Who among the following sits 3rd left to D’s husband? 
(a) E 
(b) F 
(c) C 
(d) B 
(e) none of these 
 
Q9. What is the position of C with respect to B’s sister? 
(a) immediate left 
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(b) immediate right 
(c) 2nd to the left 
(d) 2nd to the right 
(e) 3rd to the left  
 
Directions (10-11): In the following question a statement is given followed by three 
more course of action numbered as I, II and III. You have to read the course of action 
and decide which of them follows the given statement.   
 
Q10. Statement: There have been quite a few incidents of highway robbery on the highway 
between Delhi and Noida during recent months. 
Courses of action 
I. The local administration should immediately set up police vigilance along the highway to 
prevent the robbery. 
II. The local administration should immediately close down the highway till the robbers are 
apprehended. 
III. More people should be given training on how to tackle the robbers. 
(a) Only I follows 
(b) Only I and II follow 
(c) Only III follows 
(d) Only II and III follow 
(e) None follows 
 
Q11. Statement: Company B has rejected the first lot of bolts supplied by company A and 
has cancelled its entire order quoting the use of inferior quality material. 
Courses of action 
I. The company A needs to investigate functioning of its purchase, quality and production 
departments. 
II. Company A should inspect all the bolts rejected by company B. 
III. Company A should inform company B that steps have been taken for improvement and 
renegotiate schedule of supply. 
(a) Only II follows 
(b) Only I and II follows 
(c) Only III follows 
(d) Only II and III follows 
(e) None follows 
 
Directions (12-13): Each of these questions is based on the following information: 
(i) Y % Z means Y is the daughter of Z. 
(ii) Y @ Z means Y is the mother of Z. 
(iii) Y $ Z means Y is the father of Z. 
(iv) Y * Z means Y is the son of Z. 
 
Q12. Which of the following expression shows the relation that B is father of G? 
(a) C % B $ F * E @ G @ Q 
(b) B * F $ G @ N@ M $ D 
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(c) M @B * S * F @ G % D 
(d) M @ B @ N @ S*G $ D 
(e) None of these 
  
Q13. If the expression P%Y@G*K*F is true, then which of the following is not true? 
(a) G is son of F’s son 
(b) K is husband of P’s mother 
(c) P is daughter of K 
(d) All are true   
(e) Y is daughter-in-law of F 
 
Directions (14-15): Following questions are based on the information given below: 
‘P × Q’ means ‘P is father of Q’ 
‘P – Q’ means ‘Q is sister of P’ 
‘P + Q’ means ‘P is mother of Q’ 
‘P ÷ Q’ means ‘Q is the brother of P’ 
 
Q14. In the expression B + D × M ÷ N, how M related to B? 
(a) Granddaughter  
(b) Son 
(c) Grandson   
(d) Can’t determine 
(e) Uncle 
 
Q15. Which of the following represents ‘T’ is brother of ‘R’? 
(a)  R ÷ J ÷ T × F 
(b) J + R – T + F 
(c) J ÷ R – N + T 
(d) R × Q÷J+T  
(e) None of these 

 
 

Solutions 
Solutions (1-5): 
Sol.  
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S1. Ans.(d) 
S2. Ans.(a) 
S3. Ans.(a) 
S4. Ans.(b) 
S5. Ans.(b) 
 
Solutions (6-9): 
Sol.  

 
S6.Ans(a) 
S7.Ans(e) 
S8.Ans(d) 
S9.Ans(c) 
 
Solutions (10-11) 
S10. Ans.(a) 
Sol. Clearly, incidents of robbery on the highway can be adverted only by tightening 
security arrangements and increasing vigilance by police. So, I follow. Neither II nor III 
follows as no of them is practical. 
 
S11. Ans.(b) 
Sol. Both I and II follow. Whereas, III seems to be a far-off action which can be implemented 
only after the first two steps are put into practice. Thus, III does not follow. 
 
Solutions (12-13): 
S12. Ans.(a) 

Sol.  
  
S13. Ans.(d) 
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Sol.  
 
Solutions (14-15): 
S14. Ans.(d) 

Sol.  
 
S15. Ans.(a) 

Sol.  
 
 

 

For any Banking/Insurance exam Assistance, Give a Missed call @ 01141183264 

 
 
 

https://store.adda247.com/product-onlineliveclasses/4533/SBI-CLERK-MAINS-2020-%7C-Bilingual-%7C-Live-Classes

